MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

CHALLENGE Name:
Time: Score;
s —0.02 x (—3.15) = 20 0.11 % (—14.3) =
52 —0.001 x 0.467 = 21 0.006 x (—1.9) =
513 0.0002 x (—421) = 28) 10 x 12.7 =
51 —0.004 x (—1.73) = 529) (0.09 X 2.56 =
515) 2 X 274 = 530 0.005 x 201 =
5160 0.0001 x (—19.4) = s 0.9 x 341 =
51 0.0002 X (—9.9) = ) 2 x 470 =
519 —0.05 x 2.91 = 533 —(.004 X 38.3 =
519 8 X 2.63 = w0 x (—0.332) =
20 —0.3 X (—=0.7) = 53 —0.0003 x (—1.93) =
21 0.9 x (—0.393) = 50 9 x (—0.0474) =
22 (0.004 x (—110) = 537 —0.009 x (—100) =
23 0.07 x (—0.305) = 39 —0.8 X (—41) =
210 x (—0.0499) = 9 —0.3 x 0.13 =
29 7 x (—0.038) = 500 0.005 x 0.29 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 3 19


https://www.workulum.com

